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 1.One of the following is incorrect regarding aortic opening :
A- Opposite T10.
B- Part of major opening of the diaphragm.
C- It's site is in medial plane.
D- Azygos vein pass through it.
E- Thoracic duct pass from it.

Answer: A
2.*One of the following structure is not lateral relation of
psoas major :
A- Iliacus muscle.
B- Ilioinguinal nerve.
C- Femoral nerve.
D- Iliohypogastric nerve.
E- Genitofemoral nerve.

Answer: E
3. All of the following about Quadratus Lumborum are
correct except:
A) It attaches to the transverce processes of all lumbar
vertebrae
B) is inervated by T12 spinal nerve
C) Bilateral action leads to extension of trunk

Answer: A
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 4. All of the followings about oesophageal opening in
diaphragm are true except?
A) left curs compress the eosphagus
B) opposite to T10
C) passes also right epigastric artery

Answer: A 
5. One of the following is the origin of quadretus lamborum:
A- 4 lumber vertebrae
B- 5 lumber vertebrae
c- inner surface of iliac crest
D- outer surface of iliac crest
E- last rib

Answer:c


